
TILA 10



BD

BDS

BK

LKS

W

ST

BKS

TILA 10
BD x2

BDS x2

BK x2

BKS x2

LKS x4

LDS x4

ST x22-30

W x4

SCREWS
S50 x24

K8 x40

W25 x12

W13 x16

K8
M8X35

W
13

M4X13

S50
M6X35

LDS

W
25

M4X25



K8
M8X35

BD

x2

K8
K8



S50
M6X50

BD

BDLKS

S50



S50
M6X50

BK

BK

S50



W
25

M4X25

W25

LDS

LDS



Important!
Install the plastic caps before assembling the ST

spring slats to the bed frame.

ST



ST



K8
M8X35

IF YOU HAVE CHOSEN VERSIONS WITH A FULL BOTTOM DRAWER

MORE INFORMATION ON THE FOLLOWING PAGES

K8

BDS

x2

K8



W
13

M4X13

BKS

x2

W

W13



S50
M6X50

LKS

BDS

BDS

BKS

BKS

S50



Important!
Install the plastic caps before assembling the ST

spring slats to the bed frame.

ST



ST



Additionally, for a drawer with full bottom you get

DRAWER
PD x3

WSP x3

W13 x15

K8 x12

PD

WSP

W
13

M4X13

K8
M8X35

DRAWER WITH FULL BOTTOM



IMPORTANT!

WHEELS OUTSIDE

K8
M8X35

WHEELS OUTSIDE

IMPORTANT!

S50
M6X35

BDS LKS

BDS

BKS

BKS

K8 S50



W
13

M4X13

PD
W13

W13







Use only mattresses

with thickness of 8-12 cm

IMPORTANT

Beds are for sleeping,

not for jumping

Prohibit more than

one person on bed

Bed parts have 2 years

warranty in normal use

Wooden parts should be cleaned with a dry cloth and ordinary

mild detergents for the care and cleaning of wooden parts

MAX

95
KG


	0a4bd5c4508160f16dea85db7958384ba9879a807ad4ec9cdf321aa70622e535.pdf
	48fd097d1e109f03b47834af228d5eebdcfc0684f4ac8d747277ac78b1bf6df6.pdf

	991bfbd51d5017e9534ee62d6a593d29adc2cd8c613298df78fa434faad98c3e.pdf
	0a4bd5c4508160f16dea85db7958384ba9879a807ad4ec9cdf321aa70622e535.pdf
	071c761f86ba093a1a0956213952427f10329c645e17acb3bc3511d595c7d254.pdf
	0a4bd5c4508160f16dea85db7958384ba9879a807ad4ec9cdf321aa70622e535.pdf
	9a2146510d359e9a5f751a2ca7ddd0278cc6da533a5066c7c64f5f176095fbe1.pdf
	48fd097d1e109f03b47834af228d5eebdcfc0684f4ac8d747277ac78b1bf6df6.pdf
	61598c1a2504c8a22ed95fd0ccc6b1ec88cf6f8a0d584d471f03dc27ae38bcd7.pdf


